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Question Number : 1 Question Id : 70819121364 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

-

Options :

In5

t‘) 1'.1
70819169241. -

In(ty, + t;)
70819169242. 2

.tz £

70819169243, In5

70819169244.

Question Number : 1 Question Id : 70819121364 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
In5
L (8]
70819169241.
In(t; + t;)
70819169242. 2
.tz £

70819169243, In5

70819169244.

Question Number : 2 Question Id : 70819121365 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magnification is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

20819169245, Both A and R are true and R is the correct explanation of A

70819169246, Both A and R are true but R is NOT the correct explanation of A

70819169247. A is true but R is false



70819169248, '\ 18 false but Ris true

Question Number : 2 Question Id : 70819121365 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819169245, A €32 R 122 HFF @32 R 25 A ISR AZE |

20819169246, A 3% R 122 73 78 R, A I/ HZS TR |

70819169247, A% F= RFA|

70819169248, A T7 38 R 703 |

Question Number : 3 Question Id : 70819121366 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
30 Hz, When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A ?

Options :

70819169249, -0 Hz



70819169250, -8 Hz

70819169251, 242 Hz

47
70819169252, ~+2 Hz

Question Number : 3 Question Id : 70819121366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

340 Hz 71153 A8 @1 JHAFR T S0 & & F1534 a7 (A) CTs 506 6
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Options :

70819169249, -0 Hz

70819169250, -8 Hz

70819169251, >4° Hz

47
70819169252, ~+2 Hz

Question Number : 4 Question Id : 70819121367 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Draw the output signal Y in the given combination of gates.

A : —t
O[T 2 34 5t Ae— ]
X
B : Be
0] 1 2 3 4 5 s

Options :

o 1 2 3 4 5 s
70819169253.

0 1 2 3 4 5 i)
70819169254.

ol 1 2 3 4 5 ts)
70819169255.

of 1 2 3 4 5 ts)
70819169256.

Question Number : 4 Question Id : 70819121367 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A - —
0f] 1 2 3 4 5 ts) A
Y
B : Be
0] 1T 2 3 4 5 ts)
Options :
of 1 2 3 4 5 s
70819169253.
of 1 2 3 4 5 ¢{s)
70819169254,
of 1 2 3 4 5 ts
70819169255.
of 1 2 3 4 5 ts)
70819169256.

Question Number : 5 Question Id : 70819121368 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 ’ A second’s pendulum has a time period of 1 second.
Statement II [t takes precisely one second to move between the two extreme
positions.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819169257, Both Statement I and Statement 11 are true

70819169258. Both Statement I and Statement 11 are false

70819169259. Statement | is true but Statement Il is false

70819169260. Statement 1 is [alse but Statement 11 is true

Question Number : 5 Question Id : 70819121368 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
20819169257, e 1 @k 73f 11 ez o
20819169258, (T3 1 @@z f43fe 11 Towz w1

70819169250, 41e 1770 7 fagfe 11 g1

270819169260, <3re 17 o8 fagfs 11 o



Question Number : 6 Question Id : 70819121369 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and “V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?

Options:

[—27 -312T6
70819169261.[M o

] 3 413 7
70819169262, M "L " I°T']

1—2 41377
70819169263. Lo S L

[-11-31-2T-7
70819169264. Lol i i 4

Question Number : 6 Question Id : 70819121369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W C @@L V' UG YT A2 (S0 Wi A GA N &7 T 6 7@ @A C/V=\7?

Options :

70819169261, M "L T

4 3 413 77
70819169262, M "L " I"T']

=2 413 77
70819169263. LR R

1—1 3 2 7|
70819169264. Lol



Question Number : 7 Question Id : 70819121370 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5x 10 4 Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be B

Options :

70819169265, 108-25 mV

62.50 mV
70819169266.

70819169267. 88.37 mV

F 2 T
70819169268, ~ 1122 M\

Question Number : 7 Question Id : 70819121370 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10 m T o 3m @@ T 180 km/h (09 WA o 310 batCR) 6% B §-0510
AR T 2.5% 104 Wh/ m? €32 e @ 60° | 63 s O o1 20 T Wil wfee vea
q0eE W4 ZE

Options :

> T
70819169265, 108:25 mV

62.50 mV
70819169266.

70819169267, 5037 mV

417 T
70819169268, ~ 1122 ™\



Question Number : 8 Question Id : 70819121371 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord 1s wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :
Egh
70819169269.
2¢h
| 2
70819169270, ' mr
- 2mgh
[ + mr®
70819169271.
2mgh
]
70819169272, & ' 2m1

Question Number : 8 Question Id : 70819121371 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a7 r AEYE TR #AfE4 TT G P BT IR | S% TR WHED LSS R DA
AT BRPIDY TE-E1a [; 63 O 4108 b §5+ mg (AT 2031 6 Fare (e formqre o
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Options :
Zgh
70819169269.
2¢h
| /]
70819169270, ' mI

70819169271.



2mgh

[ + mr?

2mgh

| Emr2

70819169272.

Question Number : 9 Question Id : 70819121372 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ox— px? where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
z
o
tan 1[_%, ey
20
70819169273.
.l( ; ) 2
tan 1|E fudl
al P
70819169274.
f.'l'.z
tan lt'l'.,, E
70819169275.
'—1:['!'.2
tan l(.'l'.,.
70819169276. B

Question Number : 9 Question Id : 70819121372 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
2
o
tan 1[3., 2—
70819169273. p
e
tan 1{_ -
\ax/ B
70819169274,
2
o
tan lu,, E
70819169275.
40'.2
tan lct,
70819169276. P

Question Number : 10 Question Id : 70819121373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

«——@—— U000 —@
F B A
Options :
MF
F+ Ma
70819169277.
F+ Ma

70819169278. M



‘Ma —F

70819169279.

'F — Ma
M

70819169280.

Question Number : 10 Question Id : 70819121373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
"~ MF
+ Ma
70819169277.
F + Ma

70819169278. M

‘Ma —F

70819169279.

'F — Ma
M

70819169280.

Question Number : 11 Question Id : 70819121374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement 11 If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819169281 Both Statement 1 and Statement 11 are true

70819169282 Both Statement | and Statement Il are false

70819169283. Statement 1 is true but Statement 11 is false

70819169284. Statement | is false but Statement 1l is true

Question Number : 11 Question Id : 70819121374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
70819169281, 31e 1 @3¢ ffe 11 TeaR 7w |

20819169282, 31 1 w2 fagfe 11 Teag w1



20819169283, 31 17103 7 fafe 11 g

20819160284, 3T® 197 o fagfe 1=

Question Number : 12 Question Id : 70819121375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A scooter accelerates from rest for ime t, at constant rate a, and then retards at constant

rate a, for time t, and comes to rest. The correct value of t_l will be :
g 2 2

Options :

70819169285.

70819169286.

.':"!.1 { 3.2
a]
70819169287.

aq |'ﬂ.2

70819169288, 2

Question Number : 12 Question Id : 70819121375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

2

dg
70819169285.

a

d
70819169286.

.i-3.1 | Elz

dy

70819169287.

.Ell | H?_

70819169288, 2

Question Number : 13 Question Id : 70819121376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
The gas is :

Options :

monoatomic only.
708191692809. ;

70819169290. diatomic nnl}-'.

70819169291 polyatomic only.

either monoatomic or diatomic.
70819169292.



Question Number : 13 Question Id : 70819121376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a3 s ST wemfad *@ (U), 99 (P) @38 S (V) 93 T4 478 id U=3PV +4 74

G

Options:

70819169289, —and GFIITF

70819169290, = 4n TTaaIg

70819169291, 44 LT

70819169292, M5 FRVGLR SENIC STATIN

Question Number : 14 Question Id : 70819121377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The recoil speed of a hydrogen atom after it emits a photon in going from n=>5 state to n=1
state will be :

Options :

70819169293, &34 m/s

70819169294, +17 m/s

325 m/s
70819169295.

219 m/s
70819169296.



Question Number : 14 Question Id : 70819121377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o oRETT <3l TIGE AR T TAGEE n=5 (F n=1 & 7 T, I @A L7
| T FA 29 AN Ao (o) sfems wea . |

Options:

70819169293, +-34 m/s

70819169294, +17 m/s

325 m/s
70819169295.

219 m/s
70819169296.

Question Number : 15 Question Id : 70819121378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The Iengt_h of metallic wire is [ . when tension in it is T " It is Iz when the tension is Tz- The
original length of the wire will be :

Options :
Lo+ Iy
70819169297. 2
Toly + Tyl
T +Ty
70819169298. .
Tyl — Toly
T, — Ty

70819169299.



T4 — Til

T, — Ty
70819169300. -

Question Number : 15 Question Id : 70819121378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G 41e3 O To T, B Aol 07 O O 1| 3 51 T, 3901 23, o O Wiw | ©rfba
oy ==

Options :
Lo+ 1
70819169297. 2
g 26 WG 8
TN
70819169298. ¥
T1h — Talp
T
70819169299. E
Tl — Til
B
70819169300. =

Question Number : 16 Question Id : 70819121379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :

a circle.
70819169301.



a parabola.
70819169302.

70819169303, &M ellipse.

a helix.
70819169304.

Question Number : 16 Question Id : 70819121379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OFB FEFN FAA (FF SIS FoE FA0E| 92 FE FALE AN (@0eE @bals 2@ ¢
Options :

70819169301, S0 I8

70819169302. G ST ()

70819169303. T T3S [tﬂﬁ’ﬁ}

70819169304. b X (2fe X

Question Number : 17 Question Id : 70819121380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit
I—) l—) l—) 2 = o
vectors @, b and ¢ respectively. Then choose the correct relation for these vectors.
Options :
— =3
a—c

70819169305, P~



70819169306
b=at2c
70819169307.
b=2a+c
70819169308,

Question Number : 17 Question Id : 70819121380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wi qf, afewie 3 «ae weTeR e AR FIE IAEE a, b 8 ¢ «FF (3T
S 24| TSI AL T4 Ao TNy #I 4|

Options :

70819169305.

70819169306.

70819169307.

70819169308.

Question Number : 18 Question Id : 70819121381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the peak current and resonant frequency of the following circuit (as shown in figure).

Armnmm—”—

100mH 400 uF

() V =30 sin 100t

120 )
Options :

g
70819169309, - “*and 50 Hz

70819169310, -2 A and 50 Hz

70819169311, = A and 100 Hz

'j- :
70819169312, 0-2 4 and 100 Hz

Question Number : 18 Question Id : 70819121381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S TS AP SER AL T 8 Sgan! (15T ey 4

I
—————— B!

I

100 mH 100

I

I
pk
(") V =30 sin 100t

120 Q
Options :
70819169309, 2 A A% 50 Hz

70819169310, U2 A 3% 50 Hz



70819169311, = £ A% 100 Hz

19 £ AR
70819169312, -2 A ¢ 100 Hz

Question Number : 19 Question Id : 70819121382 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the figure. A body of mass 1 kg and charge 5 mC is allowed

to slide down from rest at a height of 1T m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

[g=9.8 m/s% sin 30°=

e ——
E=200N/C

Options:

70819169313.

70819169314, 138

70819169315.

70819169316, 208

Question Number : 19 Question Id : 70819121382 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; ; _ N -
foarpia wegfia e 30° (el were gwﬁmqﬁzuufmg it (T S T

1 kg B8 @2 5 mC o4 A 43 390F <3 Oram 1w Tmen e (e (ers e 7@ A
T QN T .2 T4, @ F&! ATH FI0 05 (Aggd 7

3

[g=9.8 m/s% sin 3[]”:§;cos f’r[]'J:? ﬂ'@?ﬂ]

EE——
E=200N/C

Options :

70819169313.

70819169314, 138

2
70819169315, 0-92S

70819169316, 208

Question Number : 20 Question Id : 70819121383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A wire of 1 () has a length of 1 m. It is stretched till its length increases by 25%. The
percentage change in resistance to the nearest i_ntr_-gr_-r 15 :

Options :

o
70819169317, °°

»
70819169318, 0%



5%

"
70819169319. ~

2.5%
70819169320, 1227

Question Number : 20 Question Id : 70819121383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 QA4 G321 m 7 G TN GAF (G 25% 79 391 %9 | Ferebod off ey 68 wnaw (A

Options :
= Oy
70819169317, 7° 7
e
70819169318, 0%
759,
70819169319, 2> °
7 5%
70819169320, 127"
Physics Section B
Section Id : 708191965
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Mark As Answered Required?: Yes

Sub-Section Number : 1
Sub-Section Id : 7081911245
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819121384 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The zener diode has a V,=30 V. The current passing through the diode for the following
circuitis  mA,

4k
AN

'
~]
il

o

o

90 V™5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819121384 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GFf> (T TS G V, =30 V 478 FoaN SepIa (Ga W4 fora aramzg s
mA |

90 V=" N 5k




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121385 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; 5
Time period of a simple pendulum is T. The time taken to comp[etr_- g oscillations starting

. il SO | . 3
from mean position is —T. Thevalueofawis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819121385 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5 :
3 T (TR *Reree T ST (A 8 2 4 (mteme e el 0 421

o
EI'?PFL a ¥+

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819121386 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas changes with temperature T according to
' 2

the relation V=KT?. The workdone when temperature changes by 90 K will be xR. The

valueof vis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819121386 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2
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AR T OPAEE I 9 K A, FoFEa 4w 7@ xR| @A x @3 TH |
R = fsae s 599)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121387 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
- & | NS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121387 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819121388 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
stations accommodated in a 90 kHz bandwidth are

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121388 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3% A TEYTEDe WA AT F41% 5 kHz 2, O3 90 kHz #5034 (ane Tawe)q #4i «3
T FAEEFE AM NOFS (47F (@G TG A A 7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819121389 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA: AB will be x : y. The value of x is

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121389 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

oAwg HARPICA 4fé@ AT A @@ C e sfeadin garem e T 9% B (8 A1¢ W S0ers! &
(B Rl {2 8 wRFe) | OA ¢33 AB A SPITed T x: y A, x ATH |

-C
3200 km

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121390 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0

1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar
g

i ’ i . g A
heat capacity of the gas during this transformation is ? Thevalueofxis .

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121390 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1mmq@WWWQWWW%WqWWW| 43 “fqqea afEmT

SPIBA (AT DA ECEE\%I X@RET
[R = TG 5T $99
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819121391 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirror is _ M.

5
50 cm -

60 cm

—I12m—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121391 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



foanpiTa s «&f; 97 TR S, «Fh AW TGA WAt T 48 50 cm TG 9% MR 60 G
TS CEACA JAE| (TG G 68 Well (AF 1.2 m Y WA TS T4 A Z5 ¢ |
(@ 73 SN ST IH WS B A (e I O (SR S cml

S
50 cmZ- —

60 cm

— 12 m— 5
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121392 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle executes 5.H.M. with amplitude ‘a’ and time period ‘T". The displacement of the

= -
VX3 Thevalue of xis
7

particle when its speed is half of maximum speed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121392 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
‘o TR @2 T onfiem w2 3 Fed TeE (rE fe e S| I @ S e O

\ : )
sfer@s TA® TR TEs @ oA T YA gEmy= |

"

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121393 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis ~ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121393 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10V w2 3% 271 sifea /W i1 (169 24| @7 TG 3 e 303 @@l 7@ 1w (53 {od]

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId: 708191966
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911246
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819121394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
(Molecule) (Bond order)
(a) Ne, i 1
®) N, (i) 2
() F, () O
d) 0O, ) 3

Choose the correct answer from the options given below :

Options:



70819169331, (a) — (1), (b) — (i), (¢) — (iii), (d) — (iv)

70819169332, (@) — (W), (b) — (iii), (c) — (ii), (d) — (i)

20819169333, (@) — (i), (b) = (i), (c) = (iv), (d) — (iii)

20819169334, (@ — (iii), (b) — (iv), (c) — (i), (d) — (i)

Question Number : 31 Question Id : 70819121394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Siferel-1 «q 7F oifeTal-11 TS |
wifere-1 wiferat-11
(14 (T TFE)
(a) Ne, (1) 1

b) N, (i) 2

() F, (iii) 0

d O, (iv) 3

S AT AOF TEd [@rR S
Options :
70819169332, (@) = (iv), (b) — (iii), (c) — (ii), (d) — (i)

20819169333, (@) — (i), (b) = (i), (c) = (iv), (d) — (iii)

70819169334, (@ — (iid), (b) = (iv), () — (i), (d) — (ii)

Question Number : 32 Question Id : 70819121395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulting colloidal particles when Fe(l, is added to excess of hot
water is :

Options :

70819169335, Posttive

70819169336, Negative

70819169337, neutral

70819169338. sometimes pOSIT.IVC' and sometimes I'IC'EB.L‘[VC‘

Question Number : 32 Question Id : 70819121395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SRS #fFw 7 TCa FeCl, T9l FAA Teom FAES FIHIZA SNAA 4F6 20
Options:

70819169335. b

70819169336, J A<

70819169337, = ™

70819169338, T T TIRE deic SRS

Question Number : 33 Question Id : 70819121396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of electron gain enthalpy is :



Options :

70819169339, ©>5>5e>Te

70819169340, e >5e>5>0

70819169341, 2> 0O >Se>Te

70819169342, ©>5e>Te>0

Question Number : 33 Question Id : 70819121396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options :

70819169339, ©>S5>5e>Te

70819169340, e >5e>5>0

70819169341, 2> 0O >Se>Te

70819169342, ©>5e>Te>0

Question Number : 34 Question Id : 70819121397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1

List-1 List-11
(a) Siderite 1R
(b) Calamine (i) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn

Choose the correct answer from the options given below :

Options :

70819169343, (@) — (i), (b) = (ii), (¢) — (v), (d) — (iii)

70819169344, (@) — (i), (b) — (v), (¢) — (i), (d) — (iv)

70819169345. (a) — (i), (b) — (i), (¢) — (iii), (d) — (iv)

70819169346, (@) — (iii), (b) — (i), (c) —= (v), (d) — (i)

Question Number : 34 Question Id : 70819121397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Siferel-1 @a A% Siferal-11 T8 |
wiferet-1 wiferal-11
(a) TPeazs (i) Cu
(b) FTEEA (ii) Ca
(c) IEAFEs (iiiy Fe
(d) @CEELs (iv) Al
v) Zn

Options :

70819169343, (@) — (i), (b) — (i), (c) — (v), (d) — (iii)

70819169344, (@) — (ii), (b) = (v), (¢) — (i), (d) — (iv)



70819169345, (a) — (i), (b) — (i), (¢) — (iii), (d) — (iv)

70819169346, (@) — (iii), (b) — (i), (c) —= (v), (d) — (i)

Question Number : 35 Question Id : 70819121398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following forms of hydrogen emits low energy 3~ particles ?
Options :
70819169347, Proton H

Protium %H
70819169348.

Deuterium 2H
70819169349. 1

Tritium TH
70819169350.

Question Number : 35 Question Id : 70819121398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS 2wa SIETGILET=1a TH{{b SF =@ 7w g~ e fgvad 0 7
Options :

b
70819169347, ~aP 1 H

e
70819169348. e

SO 2 H
70819169349,



o 31

70819169350.

Question Number : 36 Question Id : 70819121399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (iii) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options:
70819169351, (@) = (iv), (b) — (iii), (c) —= (i), (d) — (ii)

20819169352, (@) = (iv), (b) = (i), (c) — (ii), (d) — (iii)

70819169353, (@) = (i), (b) — (iii), (c) — (iv), (d) — (ii)

70819169354, (@) = (iii), (b) — (i), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819121399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ifere - 1 «a 7F sifera - 11 e

wifera - 1 wifera - 11
(a) TATGATN FHEED (i) fo=a
(b) TrEChfEm (i) FOHTA-CTE
(c) TfE (iii) ©E-wTE
(d) o FRgHe (iv) e
A5 TATT A TEF @rE A8
Options :

70819169351'{aj—e-ﬁvL{b]—a{ﬁﬂ,ﬁﬂ — (1), (d) — (i)

20819169352, @) = (v), (b) — (i), (¢) — (ii), (d) — (iii)

70819169353, @) — (), (b) = (iid), (c) = (iv), (d) — (ii)

70819169354, (@) — (iii), (b) — (ii), (c) — (i), (d) — (iv)

Question Number : 37 Question Id : 70819121400 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?
Options:

70819169355, 0203 5102

70819169356, 203 <20

N,O, BaO
70819169357. -

70819169358, 20 Si02



Question Number : 37 Question Id : 70819121400 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TP SR THTG A fers Seedf 2
Options :

70819169355, 2203 S0

70819169356, 2203 ¢a0

N,O, BaO
70819169357. -~

70819169358, 20 Si0;

Question Number : 38 Question Id : 70819121401 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI5, isomorphous to Csl;, the metal is present in +1 oxidation
state.
Reason R : Tl metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
708191693509. Both A and R are correct and R is the correct explanation of A
70819169360, Both A and R are correct but R is NOT the correct explanation of A

70819169361. A is correct but R is not correct

70819169362. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819121401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 46 [ge Azl @I oA A 8 T Ife R Zrwa bles)
o947 A : TII, TS Csl, @@ T2 4199 =9 =1 + 1.

IfE R : T1 4198 Srar@ne e 147 f - Srerep1 acae |
Triram faqfien Tefare v tare wifes ane Teafs «/ew o |
Options :
20819169359, A €32 R TewE®  TEA @@ A @ FPF AW R

20819169360, A 9% R&=Ca2  fords fom A @3 Ao amam R 73

res fm R fosa
70819169361, 2 % 18 RiFTget =l

Question Number : 39 Question Id : 70819121402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options:

70819169363 Calgon contains the 27d most abundant element by weight in the Earth’s crust.

20819169364. It is polymeric compound and is water soluble.

70819169365. It is also known as Graham’s salt.

T ~ 2+ o : x 5
70819169366. It doesnot remove Ca=" ion by precipitation.



Question Number : 39 Question Id : 70819121402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
& AT IS AZE FA | AL T [9gE(B FEs T AoE 7 7

Options :

70819169363. - e ﬂ{ﬁ a2t s w3 #D FNASTH ACF |

+{fosTa TSl @ TrE Hae
70819160364, T® 91 @ A FIA

70819169365. «f ameaa 7R fErae Afabe|

Gy TR Eere aft Ca2t wa Fa 711
70819169366. s a®" '@

Question Number : 40 Question Id : 70819121403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/alc. KOH are used for the identification of functional
groups presentin _______and __ respectively.

Options :

70819169367. alcohol, amine

70819169368, Amine, alcohol

70819169369 alcohol, phenol

70819169370 amine, phenol



Question Number : 40 Question Id : 70819121403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TR STCATRN W335 @42 CHCL,/Tam2a KOH ¥aUer 7ouem q@e _ §&
el oo a1 =)

Options :

70819169367.

70819169368, N1+, STFALFIZ

70819169369, Va2, TR

70819169370.

Question Number : 41 Question Id : 70819121404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 &
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

are :
Options :

sp2, sp2, sp2, sp°
70819169371. i i

3 S
70819169372, °F 7 5P» SP- 5P

o) J 3
70819169373, F 7 57 ¢

sp2, spo, sp2, spo
70819169374. Py



Question Number : 41 Question Id : 70819121404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 5 .5 1
CH, =C=CH-CHj

TOTEE TS 1, 2, 3 @2 4 FE TN AF A JATEFC ¢
Options :

sp2, sp2, sp2, spo
70819169371. Sl

70819169372, °F 7 5P ¥+ 5P

"3 ’ 3
70819169373, F 7 ¥ 57 ¥

sp2, spo, sp2, spo
70819169374, Pr e’

Question Number : 42 Question Id : 70819121405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCl

O 10-20atm

Considering the above reaction, the major product among the following is :
Options :
CH,CH,

70819169375.



COCH,CH,

70819169376.
CH,
CHy
70819169377.
CH,CH,CH,
70819169378.

Question Number : 42 Question Id : 70819121405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCl \
2)Cr,05, 773 K
O 10~ 20 AEFFE 719

T A e g4 SeemEa

Options :

CH,CHj,
70819169375.

COCH,CHj
70819169376.

70819169377.



CH,
CH;

CH,CH,CH,

70819169378.

Question Number : 43 Question Id : 70819121406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}f A in the given reaction.

OH

SOCl, _
—— A (Major Product)

HO CH,OH

Options :
OH
70819169379, ©OH CHyU
cl
70819169380,  ©OH  CHOH

70819169381.



OH

Cl  CH

Cl

Gl CH,Cl
70819169382. -

Question Number : 43 Question Id : 70819121406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
owa A A Biee 52 ¢

OH
SOCI
Qi; 20 A (2 Serme)

CH,OH
Options :
OH
70819169379, O CHx
cl
OH CH,OH

70819169380.



OH

70819169381, ¢l CILC
Cl
Cl  CHyCl

70819169382.

Question Number : 44 Question Id : 70819121407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the given chemical reaction.

CH,CH,CHO SO
@: 2 » A (Major Product)
CH,CH,CHO C,;HsOH, H5O

A

II II ACHO

Options :

70819169383.

O

)
.|_c
XL

70819169384. l l

70819169385.



CH,CH,COOH

70819169386, CH,CH,CH,0H

Question Number : 44 Question Id : 70819121407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o aafae fafaam A fifee <4 -

CH,CH,CHO
@[ NaOH A (wier Geotmwen)
CH,CH,CHO C2l 15[11 I, H,O

Options :
l] lI ACHO

70819169383.

O

@
.|_c
XL

70819169384. l I

70819169385.

CH,CH,CH,OH

70819169386.



Question Number : 45 Question Id : 70819121408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the fnllnwing chemical reaction.

SR i) HCHO, NaOH i
ii) CHyCH,Br, NaH, DMF
CH; iii) HI, A
Options:
1
: _C—OCH,CHj,
70819169387 11O
i _CH,I
70819169388, 110
: _CH,OH
70819169389, | 1O
: .CH,OH
CH;0
70819169390.

Question Number : 45 Question Id : 70819121408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T At fafE A e 74

CHO

i) HCHO, NaOH
> A
i) CH3CH,Br, NaH, DMF
CHy0 iii) HI, A
Options :
I
: ~C—OCH,CHj,
70819169387, 11O
: ACH,]
70819169388, 110
: _CH,OH
70819169389, 11©
: .CH,OH
CH,0
70819169390.

Question Number : 46 Question Id : 70819121409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11.

List-1 List-11
Cl
Nz_’ﬂﬂ.l_ L
(a) @'/ LLI;;} +N, (i) Wurtz reaction
Cl

N, *Cl—
(b) @/ 2 C_u,—H(_l} @ +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na _ Ether C,H; ~ C,H; +2NaCl(iii) Fittig reaction

(d) 2CHCl4 ONa _ Ether , C;H:—C,H:+2NaCl  (iv) Gatterman reaction

Choose the correct answer from the options given below :
Options :
20819169391, (@) — (i), (b) — (iv), (c) — (i), (d) — (iii)
70819169392, (@) = (i), (b) = (i), (c) — (iv), (d) — (iii)

70819169393, (a) — (iii), (b) — (1), (c) — (iv), (d) — (ii)

70819169394, (@) — (iii), (b) — (), (¢) — (i), (d) — (i1)

Question Number : 46 Question Id : 70819121409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wiferst - 1 @ 75 wifera - 11 Tes |

wiferest - 1 wiferst - 11
cl
N,*Cl— | "
(a) O/ Sty o @ +N, () oo RiE
Cl

Nz o il ) - s
(b) O/ Cu HCl @ +N, (i) meTTER [fEm

() 2CHCHCl+2Na — 20 | CH.-CH,+2NaCl  (iii) ffomrffemm

(d) 2CH.Cl+2Na —8 , C.H,~C Hy+2NaCl (iv) s fafem
5 T2TE FEA Ted A e
Options :

70819169391, @) — (i), (b) = (iv), (c) — (i), (d) — (iii)

70819169392, (@) — (ii), (b) = (i), (¢) — (iv), (d) — (iii)

70819169393, (@) — (iii), (b) — (1), (¢) — (iv), (d) — (ii)

70819169394, (@) — (iii), (b) — (iv), () — (1), (d) — (ii)

Question Number : 47 Question Id : 70819121410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanﬂmproteic test are used for the identification of and
respectively.

Options :

70819169395, aldoses, keloses

70819169396, ketoses, aldoses



70819169397. ketoses, proteins

proteins, ketoses
70819169398.

Question Number : 47 Question Id : 70819121410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT Y4 S TEnAe AR T2 JAE &2 Bfow
ELll

Options :

70819169395. TR o

70819169396. FPLETS, STCeTS

70819169397, | T, TA:

70819169398, LA, fTbTE

Question Number : 48 Question Id : 70819121411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «a-D-Glucose and p-D-Fructose
(c) Maltose (iii) «a-D-Glucose and o-D-Glucose
Choose the correct answer from the options given below :

Options:
70819169399, (@) — (i), (b) — (i), (c) — (iii)



70819169400, @) — (i), (b) — (i), (c) — (i)

70819169401, (@) = (i), (b) — (iii), () — (ii)

Question Number : 48 Question Id : 70819121411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wiferest - 1 @@ 30 Siferat - 11 THen8|

wifera - 1 wiferet - 11
(a) S (i) B-D-STERGE @ B-D-UETE
(b) FWFCOHE (ii) o-D-gTFE S p-D-FITE
(c) T=CoE (i) «-D-IFE 8 o-D-YIFE
6 TTF OIS TEq T WS ¢
Options :

70819169399. (@) — (i), (b) — (i), (c) — (iii)

70819169400, @) — (i), (b) — (i), (c) — (i)

70819169401, (@) = (i), (b) — (iii), () — (ii)

Question Number : 49 Question Id : 70819121412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP test can be used to identify :



Options :

70819169403, halogens

70819169404, aldehyde

70819169405. amine

70819169406, Ccther

Question Number : 49 Question Id : 70819121412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4 DNP #&F1a 20 SWe Fq1 24

Options:

70819169403, JCCe

.,

70819169404,

70819169405.

ELIE
70819169406.

Question Number : 50 Question Id : 70819121413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

[. Benzenamine

Choose the correct order of basic nature of the above amines.
Options :

70819169407, 2> B>C>D

70819169408, 0 > C > B> A

70819169409, 2> C>B>D

70819169410, P> B>C>A

Question Number : 50 Question Id : 70819121413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A, TFEE RermtE
N, NS fezarsmieier
N-faenga wfefer
. Al
T AR AFfeq o T e 4

Options :

n w

70819169407, 2> B>C>D

70819169408, 0 > C > B> A

70819169409, 4> C>B>D

70819169410, P> B>C>A



Chemistry Section B

SectionId: 708191967
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911247
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121414 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The I\IaI\ID3 weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na t
permLis g (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1_Na:23:N:14:0: 16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819121414 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



4% mL %304 70.0 mg Na * 493 €% 50 mL NaNO, ¢ & %39 (9fd Fa0% 1 Gatd NaNo,
qaEE TR A gl (FRbeR o)

[T&H TR ¢ mol | g7 ARes 4FF-Na:23;N:14;0:16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819121415 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819121415 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9% T oifs TR forg wRweem Fie mE HeA | (#efAeam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819121416 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 9 ms~!. If the uncertainty in its velocity
is 5%, then the uncertainty in its positionis %10 3 m. (Rounded off to the
nearest integer)

[Given : h=6.63 x10 3 Js]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819121416 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10 g S5C 5 3 90 ms ~ ! sferacsl a3 @ Aferrara Slepsaal 1w 5% W 9 |
@A esTed W wew 10~ 3 m, (Fraebem offream)
[(7G31 ©IT® h=6.63x 10" Js]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 54 Question Id : 70819121417 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The average S—F bond energy in k] mol L of SF(.] is . (Rounded off to the nearest
integer)

|Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121417 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

k] mol~ ! &&7% SF, Wr® S—F qgam o sfea s

[tweq1 WITR, SF(g), S(g) €32 F(g) @7 #WI4 o3 @weaAta Mol JATSTH - 1100, 275 32
80 k] mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121418 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 Kkg mol 1Y, The number (n) of benzoic acid molecules
associated (assuming 100% association) is _____



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121418 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I3 122 g TAYEF OOG 100 g 50A FA9e 91 W, TR ZA0ET T FEA - 0.93°C
[K: (H,0) =186 K kg mol ™). &S targfie T W 7227 (n) (100% FCAE 404 19)
ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819121419 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk,d of phosphoric acid and pkb of ammonium
hydroxide are 5.23 and 4.75 respectively, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121419 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W S PG pk, T G2 AR 2GHLCCA pky, T TUEH 523 632 4.75 T, W3
IR PG B pHEE |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121420 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is x> 10 2
Zn|Zn?* (0.1 M)||[Ag™ (0.01 M) Ag
Thevalueof xis . (Rounded off to the nearest integer)

- o  2.303RT .
[Given :E® ,, = [J.?‘ﬁ“v‘;Li g =T 080V =————=0.059]

7n""/7n g [Ag

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819121420 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

208 K SI9T@T 53 (FMAA emf TH V ¢F7F 30 xx 1072 x €3 T4
(FeraaY #pefeam)

ZnlZn** (01 M)|Ag™* (0.01 M) Ag
2.303RT

[mfﬁrw:ﬁi =-076V; Li fa, =H080V; =0.059]

.nh;"?:n Ag

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819121421 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k] mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e”*. The valueof xis
(Rounded off to the nearest integer)

[Use R=8.31] K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121421 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T 47 AR 7l =T 80.9 kJ mol 1 24, 700 K S#Rrard S 7a 13 S SAmEa e
T WO R AT G AT A e ¥ | x @ WA | (FRebas! o)

[(re @8 R=8.31] K~ ! mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121422 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnO; to “A". The oxddation
state of sulphur in “A" s .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121422 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T4 AT T ATAPTACED WA MO, 41 T8 200 “A” oM FA1 “A” T Meread A
Il |

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819121423 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of stereoisomers possible for ['Cu::t{u:}:«(]11['Br]||[I“MII-I3)]2 s .

[ox =oxalate]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121423 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Co(0x),(Br)(NH,) 2~ ST gy famifas Fie@ e
[ox = STHITFD]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Mathematics Section A

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 61 Question Id : 70819121424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=8is («, B, ¥),

then 5(c+f +v) equals :
Options:

70819169421, 39

70819169422, 41

43
70819169423.

70819169424, 7

Question Number : 61 Question Id : 70819121424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

708191968
5

Online
Mandatory
20

20

80

Yes

1
7081911248

Yes



Correct Marks : 4 Wrong Marks : 1

(1,3, 5) fama wefer 2ifefmg, dx — 5y +22=8 &2 THCETA ACATH (o, B, ) T, 5(a+ B+v) €9 T

G

Options :

70819169421.

70819169422.

70819169423.

70819169424,

39

41

43

Question Number : 62 Question Id : 70819121425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A=1{1,223, ...,10}and f: A — A be defined as

[(k+1 ifkisodd
Jk) =

k if k is even

Then the number of possible functions ¢ : A — A such that gof=fis :

Options:

70819169425.

70819169426.

70819169427.

70819169428.

1{]{:5

55

10°

Question Number : 62 Question Id

: 70819121425 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
& B A ={1,2,3,...,10} 932 f: A > A frfafie wica wewre,

J’k|1, I k farsTs,
| k, Ik tE© =

A AT AT AFF, ¢ 1 A — AT gof =f A

Options :

I
70819169425. St

1{]{:
70819169426. 5

55
70819169427.

70819169428, 10°

Question Number : 63 Question Id : 70819121426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y=sinx, y=cosx,

x-axis and ¥ :';I in the first quadrant. Then,
Options:

: e g
70819169429, 41 i Ag=1:2and A, +A,=1

70819169430, 11 F A27 1" J2 and A +A,=1

70819169431, 1= A2 and Ay + A= 2



g — ; . y
70819169432, 241~ Az and Ay + Ay =1+ 2

Question Number : 63 Question Id : 70819121426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=sinx, y=cosxy JELT @I y-5F TE A4 #M0 5[] 5’\3 ETH TFEFA Al. A y=sinx,

/= cosx TR, x-TF @3 ¥ =" R 4N AH TS WA TR A, T, O

Options :

Ayt A=1:28R A+ A, =1
70819169429. = =

A= A= r g2 A+ A =1
70819169430, ! "2 V2 S

A=A, @A +A,— .
70819169431. ' 2 1A= 2

> — o s k 5
70819169432, 281~ A2 T8 A HA =T 2

Question Number : 64 Question Id : 70819121427 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1

If0<a b<1 and tan "a tan ! b= II then the value of

| ol 2 o 3 4 4
@ [T () [,

Options :

70819169433.

70819169434,



>
70819169435, 082

i \

e
2

lngF
70819169436. hia

Question Number : 64 Question Id : 70819121427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I 0 < a b<1, 992 tan la + tan 111:%,&?1

az [ hz a3 [ L13 a'1 [ h'1
(a + b) | b @9 W9 24
N, 2 LY 3 LY _1 A
Options :
o
70819169433.
e 1
70819169434.

¥
70819169435, 082

lu:}g;F
70819169436. hea

Question Number : 65 Question Id : 70819121428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2
: ; ; o ol %
Let slope of the tangent line to a curve at any point P(x, y) be given by Y Y i the curve

X
intersects the line x + 2y =4 at x= — 2, then the value of y, for which the point (3, y) lies on
the curve, is :

Options :
%
3
70819169437.
18
70819169438. o
18

70819169439, 35

18

70819169440.

Question Number : 65 Question Id : 70819121428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. .
@ T P(x, y) e ks =i mem e Y| o 7@ 4 2y=4 WS 2= -2

X
7O T=% 304 ©4 y @7 T3 T &0 (3, ) b arera Tom wrawe 2d 0

Options :
=
e
70819169437.
18
70819169438. .
18

70819169439, 35



18

11
70819169440.

Question Number : 66 Question Id : 70819121429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

] 2 .
The sum of the series 3 2 b Lo, is equal to :
r::l {211 + 1)!
Options :
ﬂe [ E g )
70819169441, °©
i PR L LT
70819169442, °© 5
i—l | l—: i
70819169443,
a4 19

70819169444, 8 8

Question Number : 66 Question Id : 70819121429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

\ nZ +6n + 10

\ _ % THEE T 20
= (@n+ 1
Options :
41 g L -
e+ —e 1-10
8 8

70819169441.



70819169442, °
%}el %? s [
70819169443
ﬂe Ee_l 10

70819169444, 8 8

Question Number : 67 Question Id : 70819121430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x) = Iﬂt f()dt + e* be a differentiable function for all x € R. Then f(x) equals :
0

Options :

70819169445, ~

70819169446.

70819169447.

70819169448. ~

Question Number : 67 Question Id : 70819121430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qﬁ.ﬂi)=lgfﬂmil0Iﬂ¢ﬁ¢ﬁﬁ$ﬁ?ﬁ1ﬂﬁﬁﬁﬂﬁﬂhxeRdﬁﬁfbjﬂ§?ﬂiﬁ:
0



Options :

70819169445. ~

70819169446.

70819169447.

70819169448. ~

Question Number : 68 Question Id : 70819121431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S o (@) - af(x)
Let f(x) be a differentiable function at x =a with f'(a)=2 and f(a) =4. Then lim = e
i i 5 X—d ) i
equals :
Options :
7.
70819169449, 22~ 4
~,
70819169450, * 2
”, /
70819169451, 22 T4
at4
70819169452,

Question Number : 68 Question Id : 70819121431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



{7 () S TN T, x =2 T8 A f () =2 7% fa) =4, v im TS

X—4a X d

&9 I 279
Options :
)
70819169449, 22 4
)
70819169450, & 2@
-, ;
70819169451, 22 T4
a+4
70819169452.

Question Number : 69 Question Id : 70819121432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 _ .9

x“-x=-2 -

Let f(x)=sin Ly and gx) = R T . If g(2)= Ifn}) g(x), then the domain of the
¥ £X X =2

function fog is :

Options:
_ .
(- =, zlu{ = @
70819169453. = i
' . o
- =, zlu[ =
70819169454, & R
(—o, —1Ju 2, =)
70819169455,

(-, ~2 U[-1, =)
70819169456.



Question Number : 69 Question Id : 70819121432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' 2

g X -x-2 i
44 f(x)=sin "L x @2 g(x) = 7‘2—6 Bk 2(2) = lim g(x), (3 fog ¢ FWE A¥H 2T :
" L e < x—2 i
Options :
: s =
(- =, zlu{ = @
70819169453. =
' " \
(=AU |- 3 =)
70819169454, =
(—, —1]v |2, =)
70819169455.
(—=, ~2] U[-1, =)
70819169456.

Question Number : 70 Question Id : 70819121433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P’ be a point on the circle (x 1)24 (y—-1)=1
such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on :

Options :

70819169457, 2" cllipse

70819169458, 2 Nyperbola

70819169459, @ parabola

70819169460, @ straight line



Question Number : 70 Question Id : 70819121433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qf A1, 4) @@ B(1, ~5) %0 g1 wr@a 4 (x - 1)2+ (y-1)2=1, 3098 Y@ o <@ g 4
P, TZS (PA)2+ (PB)2 €@ W WAf% 24, O P, A €32 B el sag 34

Options :
70819169457, D TICEA T

20819169458, ‘T *AATEA T

70819169459, D TS Tem

20819169460, S8 FAECAATE Tofe

Question Number : 71 Question Id : 70819121434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— -

If vectors ay =xi — j + k and a; = i +yj + zk are collinear, then a possible unit vector
parallel to the vector xi +yj +zk is:

Options:

. (A
—= \—jt+k,
70819169461, V2

14
5
70819169462.

70819169463, V2



70819169464, V2

Question Number : 71 Question Id : 70819121434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A TS0 ay =xi - j + k 99 ay = 1 +y] +2k T, @ @B 9T 59 T,
x? | "u}' | zA 43 TSR e TARAE T, T 203

Options :

fm N

70819169461, V2

L,_ t_; ; I Fr|
3
70819169462.
70819169463, V°
% i — ]

70819169464.

Question Number : 72 Question Id : 70819121435 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Fy(A, B,C) = (Aa~B) v [~CA (A v B)] v ~Aand F,(A, B) = (A v B) v (B— ~A) be two
logical expressions. Then :

Options :
20819169465, F, and F; both are tautologies



70819169466. F1 is a tautnlog}-' but F2 is not a tautnlog}-'

70819169467 Fl is not a tautnlng}f but F2 is a tautnlng}-'

Both F; and F, are not tautologies
70819169468. =

Question Number : 72 Question Id : 70819121435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4 Fi(A,B,C)=(AA~B)v[-CA(AvB)] v~A @3 F)A B)=(AvB)v (B—~A) & il
e 7871| 9a :
Options :

70819169465, F1 93¢ F, TSUH2 209 tautology |

70819169466. F, tautology 24 o= F, tautology 209 = |

70819169467 Fl tautology 23 =T = F2 tautology 2T

T F, @32 F, tautology 2@ =TI
70819169468. . g

Question Number : 73 Question Id : 70819121436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number
50 formed is divisible by 2, is :

Options:

M]lu.

708191694609.



3|

70819169470.

‘-H\]|._-..

70819169471.

‘-HJ|,4-_..'

70819169472.

Question Number : 73 Question Id : 70819121436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¢l e THRMAE Fe 4 FA0C %3, 3, 3, 4, 4, 4, 5,5 e w9, 7@ AemaH 2 7 o)

GF AT TR TS ?

Options:

] | '__,_1.

708191694609.

3| o

70819169470.

‘-H]|._-.-

70819169471.

‘-.J|4-_..'

70819169472.

Question Number : 74 Question Id : 70819121437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following system of equations :
x+2y—3z=a
2x +6y—11z=Db
x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options:
70819169473, has a unique solution for all a, b and c

1 i r -7
70819169474. has a unique solution when 5a=2b+c¢

70819169475. has infinite number of solutions when 5a=2b+ ¢

70819169476, has no solution for all a, band ¢

Question Number : 74 Question Id : 70819121437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+2y—3z=a
2x +6y—11z=Db
x—2y+7z=c,

TTATA a, b, c A F9F, T(@ G2 FAF°94

Options :

20819169473, S G4 273, 76e a, b, ¢ €& T

70819169474, &5 W8 e 23 799, 5a=2b + ¢

70819169475, P13 FIAE 2(q %+, 5a=2b+c

70819169476, <X TN A I, 7, a, b G ¢ ¢ E



Question Number : 75 Question Id : 70819121438 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius r’ is :

Options:

70819169477, An isosceles h‘ia_nglc- with base c-qual to 2r.

70819169478. A right a_nglc- h‘ia_nglc- having two of its sides of Ic-ngfh 2r and r.

"
An equﬂatr_-ral ’r_riarngle of hr_-ight _—;
70819169479, :

An equilateral triangle having each of its side of length ﬁ r.
70819169480.

Question Number : 75 Question Id : 70819121438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
v e AR «fh Irea W @ TR Taes w4 910a o %A
Options :

70819169477, T 0 WA fagE T2 P 2r.

GFB FACFA fags A2 q O 20 2r @32 1.
70819169478, e W o ATed O 20 2r @<

. "
el T, foge a2m Twel =
70819169479. 3

70819169480, b I fage wm=ra «fEf’ ama twfi 202 /3 1.



Question Number : 76 Question Id : 70819121439 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(a+ + )
equals:

Options :

68
70819169481.

02

(51

70819169482.

(=1

70819169483, 136

70819169484.

Question Number : 76 Question Id : 70819121439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X+ 2y +2=6 @&y + 2z =4 A Yo @ FAEA T2 I TG AW LI @@ (3,2, 1) ey vanm
Q FAFAAA T AES 7 -7 A Ploy, B, y) TA 21 o+ P +y) 6@ TH T3 ;
Options :
68
70819169481.
70819169482, 102

70819169483, 136

42

=

70819169484.



Question Number : 77 Question Id : 70819121440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be defined as

i . Tr_l b1 o
'Esm{ — Ly s—1
| 2
J ' = J
x) = il
r{l ] | aIE F x4 h} il l=x=1
| sin(wx), iix >1

If f(x) is continuous on R, then a + b equals :
Options :

70819169485.

70819169486.

70819169487.

70819169488.

Question Number : 77 Question Id : 70819121440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4% f: R — R FmfEfeea #wrs,

& # _'_\I %
'Esin‘ ir’:ﬁl"‘: 1
| h 221
m :4 "3 ne
f(x) llax< +x Ib,ﬂf”r l=x=1

| sin(mx), W x >1

AW f(x), R -€ 047 7S 3, WA a + b &F T4 303
Options :

70819169485, 2

70819169486.



70819169487,

70819169488, °

Question Number : 78 Question Id : 70819121441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
x> +y?=11s a circle of radius r, then r is equal to :

Options :
1
70819169489, *
1
70819169490, 2
1
70819169491, =
1
70819169492.

Question Number : 78 Question Id : 70819121441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(3,2) R @2 12 +12 =108 i SRS @@l e A T TR e #red Aead
a7 I8 T2 T ¢ T, ¢ €@ T A

Options:
>

70819169489,



70819169490, 2

ha| =

70819169491.

70819169492,

Question Number : 79 Question Id : 70819121442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A natural number has prime factorization given by n=2"3%", where y and z are such that

y+z=5and y Lyt o y > z. Then the number of odd divisors of n, including 1, is :

Options :

70819169493.

70819169494, =

70819169495, "~

70819169496, %

Question Number : 79 Question Id : 70819121442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@%b Fre1fed ALY, 4¥E prime factorization n=2%3Y5%, TAUMCA y €32 2 & y+z=5 €3

- i 5 ., :
y e =g,y}zfﬂ‘§1m.mnxﬂﬁ Ee, SIEed (1, 209 4d) -



Options :

70819169493.

70819169494. =

70819169495, <

70819169496, °F

Question Number : 80 Question Id : 70819121443 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" rlog. t - (1
For x>0, if f(x)= I—Hdt, then f(e) 1 fl —
1{1 k1) e

b1

is equal to :
J

Options :

70819169497, U

70819169498.

M| =

70819169499.

70819169500.

Question Number : 80 Question Id : 70819121443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X

[“g*‘ dtl}n—caf |f|—|ﬂawm

1:lI’L

Options :

70819169497, U

70819169498.

M| =

708191694909.

70819169500.
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708191969
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.l : :
1 LM 1 . 1

L, .= Ix’]‘_l{l x]"_l dr, formn=1,and ———dr=al, ,ac R thena

“ ” {1 |l:l]]'l"'l'|

equals .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819121444 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 1 m-1 n-1
_ [.m=1 An=1 4 ey o X l
= _[1 (1-x)" " dx, A, m, n = 1ER =
. o (1+2x)

A o &9 T 204

?Jf':'r I dx = a Im. n,ae R

m; n

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121445 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy

245/ < 4 and z(1+i) +Z(1 —i) > —10,i = y~1.

If the maximum value of |z+ 12 is .u' | Iﬂﬁ, then the value of (a+p)is .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121445 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
z+5 ﬁi.-ltﬂﬂi’.lz{l Fi)+Z(1-1) = 10,i = -1 & B 9ca1 W [z+112 €@ Al TW
«+ B2 WA (+p)@aATZA__ |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121446 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, —3) and (4, Z\E], and given that 'a- 2.2 b=3 then

(a®+b*+ab)isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121446 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

«3 0T e e w%e wioag 74 (a, b) Twra | I 7@ (3, - 3) @S (4, - 242)
R @ o - 242 b=3 1 % I @A (224 b2 ab) RANTA |

r

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819121447 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x7 + 5x% + 102 + 1022 + 10x + 10 lie in the interval (a, a +1).

Then, |a|isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121447 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



207+ 504 + 1003 + 1002+ 10x + 10 & I FAREE 790G A4 TGGA (2, a +1) Fw@ T Gagw
P, T a SG A, O0d | a| @9 914 209 I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121448 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
P . "
Let X, X, ..., X|g be eighteen observations such that l(}(i a) = 36 and l(}(t [5)2 =90,

1=1 1=1
where o and [ are distinct real numbers. If the standard deviation of these observationsis 1,
then the value of |o = Bl is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121448 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

18 18
4 Xy, Xy, ..., Xyg 229 180 R w3 (X; — ) =36 @@ Y (X; - B)* =90, TIA,
i=1 =1

o 3 B A2 IR M| AW AAS AW GD) W, FA e - Bl @INETA

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121449 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 0 | L 00
1 P, | :
oA +BA=|0 4 0] forsome
30 -1 001

[fthematrix A=|0 2 0 | satisfies the equation A

real numbers « and 3, then f~« isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121449 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 0] 100
WOhE A=10 2 0|, AR +aAP +pA={0 4 0| @ T FF A, 0 8 P I
30 -1 00 1

RG], I~ @ IIZTI_ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121450 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a and p be two real numbers such that a+p=1 and afp=-1. Let p =(a)"+ (B)",

: _ oy
Pn-1=11and p, ;=29 for some integer n = 1. Then, the value of p_ is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121450 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

47 o @ YD I AN T a+p=1932 af= 1. 4@ p =(a)"+(P)", p,_1=11 93¢
Pos1=29, 8 WG A n = 1, m'pﬁ @TATI____ |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819121451 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121451 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
TG 4 SER™E FogE A @ A%, w33, 18w,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121452 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the arithmetic mean and geometric mean of the p and g terms of the sequence
16, 8, —4, 2, ... satisfy the equation 42 -9y +5=0, then prgisequalia. - . ..

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 89 Question Id : 70819121452 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

16,8, 4,2, ... €% T4 p-TH G2 q-TH AT TGN TAF G2 BTTERT T I 7 A
402 -9y +5=0 FPINCF| TR prqATAIHI___ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121453 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2

Let L be a common tangent line to the curves 4x* +9>=36 and (2x)*+ (2y)>=31. Then the
square of the slope of the lineLis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819121453 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

422 +9y2=36 @32 (2x)2 + (2y)2=31 GTWA TG =0fF L ZA, T3 L @7 A% 35 T3
_



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



